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CLAS MIDTERM 1 REVIEW

c. Prove demand for x; is scale invariant (homogenous of degree zero)
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3. U(A B)=A +In(B), where A is the number of apples and B is the number of bananas.
a. Solve for the demands for apples and bananas. Assume the price of apples is $10, the price of bananas is

$1 and income is $5.
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b. Solve for the demands for apples and bananas. Assume that apples are always free and bananas cost $1
each. Income is $5. Assume that consumers are allowed to purchase a maximum of 10 apples and a

maximum of 10 bananas.
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4. John’s utility is given by, u(b, ¢) = bc — 1000, where b is the number of books and c is the number of cars.

Assume that the price of books is $10 each and the price of cars is $20,000 each. John has $100,000 to spend.
a. Find utility at the point (10, 10)
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b. Solve for John’s demands for books and cars. Assume John cannot consume fractions of books or cars.
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5. U(x;, X2) =X +X5° m =20, p; = $2, p,=$10

Solve for the demand functions for x; and x;
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6. Assume there are only two goods that can be consumed: X and Y. Katie and Lauren both have Cobb-Douglas
utility functions, and Lauren’s utility function is a monotonic transformation of Katie’s function. Based on these

facts, determine whether each of the following statements (independently) are true or false and explain your

answers in three sentences or less.

*  Assuming that Katie and Lauren face the same prices and have the same income, it is possible that
Katie’s optimal consumption of X is higher than Lauren’s optimal consumption of X.
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